This report contains the transfers results.

Contest Name	Ward 7 - Strathallan
Valid Votes	4,785
Positions to be Filled	3
Quota	1,197

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Keith ALLAN	Scottish Conservative and Unionist	1,420
Steven CARR	Scottish National Party (SNP)	1,048
Neil Henry GAUNT	Scottish Liberal Democrats	547
Andrew LEAR	Scottish Green Party	333
Crawford REID	Scottish Conservative and Unionist	812
Catherine SCOTT	Scottish National Party (SNP)	625
	Total	4,785

Candidate Keith ALLAN Elected with 1,420 votes, being in excess of the quota of 1,197

This report contains the transfers results.

Stage 2 - Surplus of Keith ALLAN

223.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Steven CARR	33	0.15704	5.18232
Transfer to Neil Henry GAUNT	98	0.15704	15.38992
Transfer to Andrew LEAR	17	0.15704	2.66968
Transfer to Crawford REID	1,214	0.15704	190.64656
Transfer to Catherine SCOTT	9	0.15704	1.41336
No further preference	49	0.15704	7.69496
Not transferred due to rounding			0.00320
	Total		223.00000

This report contains the transfers results.

Stage 3 - Exclusion of Andrew LEAR

335.66968

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Steven CARR	68	1.00000	68.00000
Transfer to Neil Henry GAUNT	123	1.00000	123.00000
Transfer to Crawford REID	14	1.00000	14.00000
Transfer to Catherine SCOTT	94	1.00000	94.00000
Transfer to Steven CARR	3	0.15704	0.47112
Transfer to Neil Henry GAUNT	4	0.15704	0.62816
Transfer to Crawford REID	5	0.15704	0.78520
Transfer to Catherine SCOTT	1	0.15704	0.15704
No further preference	34	1.00000	34.00000
No further preference	4	0.15704	0.62816
Not transferred due to rounding			0.00000
	Total		335.66968

This report contains the transfers results.

Stage 4 - Exclusion of Neil Henry GAUNT

686.01808

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Steven CARR	83	1.00000	83.00000
Transfer to Crawford REID	177	1.00000	177.00000
Transfer to Catherine SCOTT	101	1.00000	101.00000
Transfer to Steven CARR	3	0.15704	0.47112
Transfer to Crawford REID	70	0.15704	10.99280
Transfer to Catherine SCOTT	2	0.15704	0.31408
No further preference	309	1.00000	309.00000
No further preference	27	0.15704	4.24008
Not transferred due to rounding			0.00000
	Total		686.01808